OB SO

SEIAMIP 108 SFE F—2H F—R

— EFEG1RD  ZE1D)
)1. B4%0x =0.101001000100001 - Rl x A& FEIBE

)2. BRIX y&%%kiﬁﬁ%ﬂ s B X+ y+xy IR

)3. Za,beR » Ha’>b? - Blaglag/\iRb

4. BabeQ - Ba+cv2=b+dv/2 - Bla=bBc=d

V2a+b
+

5. &5c=
) V2+1

» RIFESHR £ a,b,c BIR/N\EAfRA  a<c<b

)6. BXljax+b|<2 » Al-2<ax+b<2 - TIHE : _2_b<x<2_b
a a

)7. BREI-1<x<0 - 8 o2 gt oyl
x? X
2

” 1
X*+1 e

e EA T oxd  HA X fod o1 fibloc D) s 2
)9. 2%0a>0 - Bljloga>0

)10.2%0 abcde A—1@ 5 i€} » B logabcde = 4.87 - Bl| log 0.abcde = —1.87
Y11.E4%0loga~3.8 + logh~3.7 » Bl (a+b) /& 5 ii&(

2 ER ERTET 2% FE@ERY Vv VvV FRSEmsRE 2]
)13.%5 log 2 BY 4 I B MBI AV#5R % 0.301 - BJ10°* =2

“ERBEASDERER8E 852 - £409)

1+2\/§ y =N =
Y = (AUEBIRIIES)

1.

4+ - 18 —— I3 I | =y
. 5 a=0.9487 L B a B/ NEBITNET - )\ EIBE1EEE 2019 (BT A

| BEETIER 3¢ |x+ 2| = -7 BURA

BEHERZR -1+ |2x+3>7 R GELERHSERT)

5. %|x—]4—|x+5| e/ VEAEM - |x—14+|x+5| g/ vEAEm - BIM +m=




OB SO

6. 284103 —\4—+[7 = (EURBIRTES)

7. (3.6x10% +12.3-5.9x10 ") x (4.6 x10%) + (2.3x10°°) = GELRIESERT @ B 2 ENES)

8. 10" +1og10’ =

= IE7HE B D (AAEH 6 - ZRET 2/)\E - BHEQL)NERF 62 - BHEQ)ER 8 D - B—ERSH
8 7 » ARERSIKET 40 D)

1. (1)Za=1og+v10 + b=10g100+10 - c:logﬁ Bllaxb+c =

(2)& a=log+/10 + b=10g100410 - c=|ogL » Bl 1030 =

000

2. )BLRXNIBBHEAENNERRE » BL | xK3 L, |x-4<4 - L:|2x+3|<5 » L, ;| -3x+7[<11 »
AL, L, L, L BOK/NEER -
(2 BABHERZ [ — p| <10 HERIEER 8 Bk =

3. (BAlogloga)=-1Rla=__ (GELRSBESRRT - B3 UEHET)
(2240 log(loga) =0 - log(logh) =1 - B g L

4. (WENSEMENESIIR® 400 5T - B0 5 FRFT 25 7% - FRZMSAENEEERER—FMENRFE
R F
QEMSEMEREEIRS 400 52 > BX0 5 FRMT 25 58 - FRZMEEVEEERER 0.4 TAFHKBED
R F(ENZIEE)




OB SO

5 (VENBRPUEHFRERa mol /L - }|ETH) pH EE -loga - FER ALY pH EE 25 BRBHI pH &
=45 AIBRANERFIRERSRBNEMFREN_____ 3
QEMNBRPHIRET=ERa mol/L - IBETH) pH ERE -loga - HBER AL pH BEE 25 BRBEY pH H
=45 RIEUSR A 2L - BB SLIES @ RIRS®REY pH BR (R 2 (I BHHES)

6 BRI -a =2 Ao (@URERREES)
@BRa" -3 - AT (BABERRES)

= HRECBOEAEASE  SEID BEFEH D)
L BIBURLE ABSRRLT - BEBRR10® - BUR LS 3AC - 4BC FRILHIC BHEMIEB - BAARC, ~ C, -
A (FEANBRSERT - ] 3 UEBES)

x-5/<a

BV x HE 16{@ - Ha,b 5A1FEE - Bla-b=
V+ﬂ>b

2. mEBHEAFN {'

3. B10™Y +107 BiMER M - RIVERERa=k - RIS (m k)=




OB SO

SEIAMI 108 2FE F—2H F—RERS S—HENGS

— EFEFEBD  ZFE1D)
1. 2.

X X

B850 0 F409)
2.

6.

10+2y/3-14 +/2
2

7.4x10°

= EREB BHEABA B SRIE2NE  SHEONEE6D  SHEQIBES D BB
1889 FABBSIRE 409)

1.

1) L>L>L>L,

BR3P &Kt 1D)
2.




